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Consider a first-order digital filter, which is described by the following difference equation:

y(n)=x(n)—ax(n—1),a+0

{@3 1- Is this filter IR or FIR filter? Justify? >f- i(ﬁ b@( resd ,1, Ad&fﬂl (4/24«./ a1 ,)baéz

2- Find the coefficient a such that this filter attenuates signal -6 db at frequency @ = E ?
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|
Consider the following 2" order digital filter:

—

y(n)=ax(n)+bx(n-2), a#0,b+0
ig_} 1- Is this filter lIR or FIR? Justify? r:tﬂ befmyﬂ"— ,'( cjt??jn’/ a&f@“‘( a1 Ouﬁluo

[Q] 2- Determine coefficients; a and b such that filter attenuates signal magnitude by half at frequency @ = % and its

frequency response is normalized so that H(0)=1.
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